Today's physicists still know >about time< little, yo-yo, little... (because they don't read
laymen).

For 20 years | have been writing "about time" as | see it differently, e.g.

= Time does not run for us humans, but we humans run "after time"; we run (with the entire
globe) = we move along the time dimension (it is better to say we move along 3+3D) and thus
cut the time intervals into both time and length dimensions. Time=quantity=dimension
"stands" but we run along the dimension.

="Time" is a quantity, a physical universe-creating quantity, which also has dimensions like
the quantity "Length” (space). It is a stoic in the space-time grid of 3+3 dimensions
before BB as a state of infinite flat (non-curved) space-time, in which time does not run,
expansion does not take place, there is no mass-field in it yet, maybe not even laws, (or only
two *).

= The time that we humans observe and perceive (together with nature on Earth) around us,
it only runs, flows, flows through the universe... only when the time-space grid, the 3+3D
yarn "unwraps"; since the big bang, the foam of dimensions expands, not expands, and we in
the locality = our galaxy, the solar system perceive this as the flow of time.

= The pace of the passage of time is not the same throughout the universe, although the
curved, "foamy" space-time expands since the big bang (it does not expand, but expands,
Hubble is wrong), so the expansion of space-time, both in time and length dimensions, is not
uniform, is according to some descending non-linear curve. In each galaxy, the pace =
passage of time (the unfolding of the curvature D of time) is different. All of this said for the
"present-day stop-state” of space-time at 13.8 billion years from VT...so watch out.

= Even the pace of the passage of time in the direction >to the beginning<, to the big-bang of
the universe, changes due to the transition of curved dimensions "in the foam" to a slightly
curved curve and...and in the future again to "linear dependence". (1) Today is different,
yesterday is different, a million years ago it was different, a billion years ago it was different.

\Time is the least explored "thing" of physics and reaIity{.

.

CAS
Dnesni fyzikové stale vi >o ¢ase< malo, jo-jo, malo... (protoze nectou laiky).
20 let pisu ,,0 ¢ase* jak ho vidim jinak, napf. heslovité:

= Cas neb&zi nam lidem, ale my lidé bézime ,,po ¢ase™; b&zime (s celou zemékouli) =
posouvame se po ¢asové dimenzi (Iépe fikat posouvame se po 3+3D) a tim ukrajujeme
intervaly ¢asové na dimenzi ¢asové i délkovych. Cas = veli¢ina=dimenze ,,stoji, ale my
bézime po dimenzi.



= ,,Cas“ je veli¢ina, fyzikalni vesmiro-tvorna veli¢ina, ktera ma také dimenze jako veli¢ina
,,Délka‘ (prostor). Je to stoickd v miizce prostoro¢asu 3+3 dimenzi pied BB jako stav
nekonecného plochého (nezakiiveného) ¢asoprostoru, v némz Cas nebézi, rozpinani se

nekona, neni v ném jesté hmota-pole, mozna ani zakony, (anebo jen dva *).

= Cas, ktery my lidé pozorujeme a vnimame (spolu s piirodou na Zemi) kolem sebe, ten
teprve bézi, tece, plyne vesmirem...az teprve tehdy, kdy se ¢asoprostorova mtizka, predivo
3+3D ,rozbaluje ; od velkého tiesku se péna dimenzi rozbaluje, nikoliv rozpina a to pak my
Vv lokalité = nasi galaxii, slune¢ni soustavé vnimame jako tok casu.

= Tempo plynuti ¢asu neni v celém vesmiru stejné, piestoze se od velkého tfesku zakiiveny,
,,penovity* ¢asoprostor rozbaluje ( nerozpina se, ale se rozbaluje, Hubble je $patné ), tak to
rozbalovani ¢asoprostoru, i dimenzi ¢asovych 1 dimenzi délkovych, neni rovnomérné, je podle
néjaké sestupné nelinearni kiivky. V kazdé galaxii je tempo = plynuti asu (odvijeni kiivosti
D casu) jiné. Toto vSe feCené plati pro ,,dnesni stop-stav* Casoprostoru v dob¢ 13,8 miliard let
od VT...takze pozor.

= Dokonce tempo plynuti ¢asu se smérem >k pocatku<, k big-bangu vesmiru, méni vlivem
prechodu kiivych dimenzi ,,v péné* do malo kiivé kiivky a...a v budoucnu opét do ,,pfimkové
zavislosti“. (1) Dnes je jiné, vCera je jiné, pfed milionem let je jiné, pied miliardou let je jiné.

Cas je nejméné probadané ,,véc* fyziky i reality].
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Time Since Einstein

My view on the phenomenon, the quantity Time
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http://www.hypothesis-of-universe.com/docs/eng/eng_034.pdf ;
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http://www.hypothesis-of-universe.com/docs/eng/eng_075.pdf ;
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http://www.hypothesis-of-universe.com/docs/eng/eng_100.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_105.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_109.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_117.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_122.pdf ;
http://www.hypothesis-of-universe.com/docs/aa/aa_003.pdf

http://www.hypothesis-of-universe.com/docs/eng/eng_129.pdf : http://www.hypothesis-of-
universe.com/docs/eng/eng_126.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_117.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_116.pdf

http://www.hypothesis-of-universe.com/docs/eng/eng_094.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_075.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_071.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_072.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_062.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_063.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_060.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_053.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_039.pdf ; http://www.hypothesis-of-
universe.com/docs/eng/eng_053.pdf ; Rovelli ,,0 ¢ase*
http://www.hypothesis-of-universe.com/docs/eng/eng_094.pdf - explanation why it can
have time of multiple dimensions
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We don't run out of time, no. We're running out of time, but! ! We-objects (material and
immaterial, e.g. "cursors™) run "in time"; we run along the time dimension, and thus cut
intervals on that time dimension; that's how time "runs”. The movement of the object along
the dimension (time) is the presentation of the flow of time. Time as a quantity "stands" =
does not run. If the cursor runs "along the dimension™, we perceive this movement as the flow
of time. The flow-flow of time can be perceived and physically understood by “choosing™ a
unit interval on the time dimension, not just, but describing the entire "infinite” time
dimension with those unit intervals. Now we will "warp" the dimensions of time, either
expand or collapse...; The projection of the expansion of the dimension onto the
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perpendicular, i.e. the change in the size of the interval t; + Aty can already be considered,
interpreted as "the flow of time".

http://www.hypothesis-of-universe.com/docs/eng/eng_101.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_117.pdf The new ideas of laymen
cannot be destroyed and defeated by not reading them. And by ignoring them. ( Just as
science has been ignoring my HDV idea for 22 years). -

& Cas nebézi nam, ne. Nam &as nebézi, ale | | my-objekty (hmotné i nehmotné, napt.
"kurzory") bézime "po Case"; my bézime po dimenzi ¢asové, a tim ukrajujeme na té casové
dimenzi intervaly; a tim "bézi" ¢as. Posun objektu po dimenzi (Casové) to je presentace toku
casu. Cas jakozto veli¢ina "stoji" = nebé&zi. B&zi-li kurzor "po dimenzi”, toto posouvani pak
vnhimame jako tok-plynuti ¢asu.

Tok-plynuti ¢asu lze vnimat a fyzikalné pojmout i tak, ze na ¢asové dimenzi ,,zvolime*
jednotkovy interval, né jen, ale popiSeme celou ,,nekone¢nou dimenzi ¢asovou témi intervaly
jednotkovymi. Nyni budeme dimenze Casové , kiivit®, bud’ rozbalovat, nebo sbalovat...;
Promitani rozbalovani dimenze na priimétnu, tedy zmény velikosti intervalu

t1 + At1 Ize uz povazovat, interpretovat jako ,,tok plynuti ¢asu®.
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Uvnitf rakety velitel ,,ve své vlastni soustavé ma hodinky — prvek cesium, které tiké stejnym
tempem jako na Zemi, ale kdyZ se porovnavaji hodinky velitele rakety s hodinkami na zemi
signalem = zaslanou informaci, porovnavaji se soustavy pooto¢ené podle STR ( Lorentzovy
transformace) a tak pozorovatel pozemsky pozoruje jiné intervaly chodu ¢asu na mionu=v
raketé neZ u sebe na zemi....s tim podivnym rozdilem, Ze oba pozorovatelé se svymi
soustavami jsou blizko sebe, kdeZto kvasar, >za posledni galaxii<, ktery ma viici nam vé¢ [
céé, ma natolik pootoéenou soustavu (skoro o 90°) http://www.hypothesis-of-
universe.com/docs/c/c_009.jpg Ze uz se nachazi t¢éméf na hranici pozorovatelnosti...proto
fikdme Ze Cas na kvasaru téméf nebezi, pozorujeme Ze je dilatovany, ale jen to pozorujeme,
jinak na kvasaru samotném oni Kvasafeni Zadnou dilataci na sob& nepozoruji

J& navrhnul namisto big-bangu ,,infla¢ni skok* ve smyslu ,,okamzité* zmény stavu ptivodniho
plochého euklidovského hladkého 3+3D casoprostoru do extrémné kiiveé 3+3D nenulové
lokality - nas budouci Vesmir...pficemz ta ““udalost* zmény stavu nesouvisi s ¢asem jako
takovym..., nastane ,,kdykoliv*, a lokalita nova , kiivych dimenzi* nastala ,,v

piedeslém* nekone¢ném plochém 3+3D a je ta lokalita libovoln¢ velikd, protoze

v nekoneéném stavu ¢asoprostoru nelze stanovit jednotky. A nutno hned dodat, Ze Cas je jen
artefakt = veli¢ina ,,nazev statick€ého stavu* kde tok beh ¢asu nastane az tehdy, kdy se zacne
,,po ¢asovych dimenzich* se pohybovat = posouvat sledovany objekt-subjekt, ten ukrajuje
intervaly. Cas neb&zi nam, ale my b&zime ,,po“ ¢ase, po ¢asové dimenzi, a jak ukrajujeme ty
casove intervaly, tak to vnimame jako plynuti asu. Pied Tieskem ,,Cas nebézel* protoze
nemeélo ,,co* bézet po Casové dimenzi. Po Tiesku nastalo ,,viici vakuum* a v ném se
balickovaly objekty z dimenzi a ty ,,zacaly* po ¢asové dimenzi se posouvat...atd. jak pravi
HDV.

(1113


http://www.hypothesis-of-universe.com/docs/eng/eng_101.pdf
http://www.hypothesis-of-universe.com/docs/eng/eng_117.pdf
http://www.hypothesis-of-universe.com/docs/c/c_009.jpg
http://www.hypothesis-of-universe.com/docs/c/c_009.jpg

Pti libovolné volbé jednotek bude ¢ = 1/1 . Pfi pfepoctu na ,,nase volby* to je

¢ =2,9979. 108 /10° . JenZe ta c-rychlost je ,,dnes“ v dnesnim ,,stop-stavu* od T¥esku.
Zdalipak je ¢ = 1/1 stejné kdykoliv od Tiesku ? Ztejme ano. (( Zde v odstavci mam opravu
textu z 3.10.2022 )) Dnesni globalni vesmir se rozpina = rozbaluje. Zahajil své rozbalovani
rychlosti skoro rychlosti svétla, pficemz pohledem do minulosti byl vice kiivy. Tedy
rozbalovanini bylo pohledem do minulosti ,,rychlejsi®, do budoucnosti je stale pomale;jsi,
protoze kiivost je uz skoro rozbalena. Nevéfim na néjaké zrychlené rozpinani ¢asoprostoru.
Ptileti-li kK nam svétlo z kvasaru, ( z horizontu pozorovatelnosti ), pak nese informaci
pootodenou, ( skoro 0 90° ) protoze vyletél ,,v dob&“ kdy byl &p 3+3D hodné zakfiveny.
http://www.hypothesis-of-universe.com/docs/c/c_239.jpg

K tomu aby rostla entropie, tj. neuspofadanost, musel byt ptedchozi stav uspotadanéjsi tedy
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leptony, pak atomy, pak molekuly, atd. ) ....ale jak sem ukazal : zacina to plazmou “prvni

hmoty““ 100%, pak ““se vyrobi“* 74% vodiku ( zlstane uz to mnozstvi konstantni ), pak

(Y333 TN TY

se vyrobi“* 24% helia ( a zGstane toto mnozstvi uz konstantni ), pak “““se vyrobi‘“‘ uhliku
cca 0,6%, pak kysliku je cca 0,004% ...atd. ; ,,mnozstvi kazdé vyssi slozitosti hmoty klesa
geometrickou fadou az se dostaneme na bilkoviny napf. na 10%°% , a DNA na 101% % , ¢&isla
si vymyslim, coz je prave a jedin€ na Zemi a nikde jinde ve Vesmiru. [ pyramida slozitosti []
kvalita krat kvantita = 1x1. http://www.hypothesis-of-universe.com/docs/aa/aa 037.pdf .
http://www.hypothesis-of-universe.com/docs/eng/eng_009.pdf To znamena, ze ke kazdé vyssi
slozitosti = uspotadanosti dojde ,,skokem* a to ve stadle mensim objemu Vesmiru a tato entita
se pak ,,rozpada‘“ entropicky, tj. roste lokalni neuspofadanost. Tuto myslenku-Uvahu je
zapotiebi precizovat. (( ..néco z té Teorie Vieho necham i na studovany fyziky ))

Inside the rocket, the commander "in his own system™ has a watch - the element cesium,
which ticks at the same rate as on Earth, but when comparing the watch of the commander of
the rocket with the watch on the ground by the signal = information sent, the systems rotated
according to the STR (Lorentz transformation) are compared and so the terrestrial observer
observes different intervals of the passage of time on the muon=in the rocket than on the
ground... with the strange difference that both observers with their systems are close to each
other, whereas the quasar, >behind the last galaxy<, which has a véé to us ¢ wow, it has such
a rotated system (almost by 90°) http://www.hypothesis-of-universe.com/docs/c/c_009.jpg
that it is almost at the limit of observability... that's why we say that time on a quasar almost
does not run, we observe that it is dilated, but we only observe that, otherwise, on the quasar
itself, the Quasars do not observe any dilation on themselves I proposed instead of the big-
bang "inflationary jump™ in the sense of an "instant™ change of state of the original flat
Euclidean smooth 3+3D space-time into an extremely curved 3+3D non-zero location - our
future Universe...while the ""event™ of the change of state is not related to time as such...,
occurs "whenever", and the new location of "curved dimensions™ occurred "in the previous”
infinite flat 3+3D, and the location is arbitrarily large, because units cannot be determined in
the infinite state of space-time. And it must be added right away that Time is just an artefact =
quantity "the name of a static state™ where the flow of time occurs only when it begins to
move "along time dimensions" = to move the observed object-subject, it cuts off intervals.
Time does not run for us, but we run "after" time, along the time dimension, and as we cut off



http://www.hypothesis-of-universe.com/docs/c/c_239.jpg
http://www.hypothesis-of-universe.com/docs/aa/aa_037.pdf
http://www.hypothesis-of-universe.com/docs/eng/eng_009.pdf
http://www.hypothesis-of-universe.com/docs/c/c_009.jpg

those time intervals, we perceive it as the passage of time. Before the Bang, "time did not run™
because there was "nothing" to run along the time dimension. After the Bang, there was a
"boiling vacuum™ and objects from the dimensions were packaged in it and they "started" to
move along the time dimension...etc. as HDV says.

With any choice of units, ¢ = 1/1. When converted to "our choices" it is ¢ = 2.9979. 108/10°.
But the c-speed is "today" in today's "stop-state” from Bang. Is ¢ = 1/1 the same at any time
since Bang? Apparently so. (( Here in the paragraph I have a text correction from 3/10/2022))
Today's global universe is expanding = unfolding. He began his unwrapping at near light
speed, with a more crooked look to the past. Thus, looking at the past, the unwrapping was
"faster”, looking into the future it is still slower, because the curvature is already almost
unwrapped. | don't believe in any accelerated expansion of space-time. If the light from a
quasar comes to us (from the horizon of observability), then it carries the information rotated
(almost by 90°) because it flew "at a time" when the 3+3D number was very curved.
http://www.hypothesis-of-universe.com/docs/c/c_239.jpg

In order for entropy, i.e. disorder, to grow, the previous state had to be more ordered, i.e. more
complex..., but since the Big Bang, that complexity has also been getting bigger and bigger
(first only quarks and leptons, then atoms, then molecules, etc.) ....but how he showed here: it
starts with a plasma of ""first matter"" 100%, then 74% of hydrogen is "produced" (the
amount will remain constant), then 24% of helium is "produced" (and this amount will remain
constant ), then about 0.6% of carbon is "produced”, then about 0.004% of oxygen...etc. ; "the
amount of each higher complexity of matter decreases in a geometric series until we get to
proteins, for example, to 10“°%, and DNA to 101%%, I'm making up the numbers, which is
exactly and only on Earth and nowhere else in the Universe. ¢ pyramid of complexity ¢
guality times quantity = 1x1. http://www.hypothesis-of-universe.com/docs/aa/aa_037.pdf .
http://www.hypothesis-of-universe.com/docs/eng/eng_009.pdf This means that each higher
complexity = orderliness occurs by a "leap™ in a smaller and smaller volume of the Universe
and this entity then "falls apart” entropically, i.e. local disorder grows. This idea-reflection
needs to be specified. ((..I'll leave some of the Theory of Everything to the physics student))
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